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RATIONAL NUMBERS

Illustrations

1. Express each of the following as a rational number: 

(i)  


(ii)  

What do your see?

Watch Video Solution

+ ( + )
−2

5

11

5

−3

5

( + ) +
−2

5

11

5

−3

5

2. Simplify: + +   + +   +
3

8

7

2

−3

5

9

8

−3

2

6

5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eTAKCJGwqVsJ
https://dl.doubtnut.com/l/_vBdBkjKhOLlK


Watch Video Solution

3. Verify:

Watch Video Solution

( + ) + = +  ( + )f or   =   , = and =
a

b

c

d

e

f

a

b

c

d

e

f

a

b

−2

3

c

d

5

7

e

f

−1

6

4. The product of two rational numbers is 
 If one of the number is 


find the other

Watch Video Solution

.
−28

81

,
14

27

5. Express the following expressions in its lowest terms. 

Watch Video Solution

( × ) + ( × )
12

5

3

4

12

5

7

2

https://dl.doubtnut.com/l/_vBdBkjKhOLlK
https://dl.doubtnut.com/l/_VchX5Evs2Jb3
https://dl.doubtnut.com/l/_1Jzdg8De65gr
https://dl.doubtnut.com/l/_RWRQGjgXEPDX


6. Express the following expressions in its lowest terms. 

Watch Video Solution

( × ) − ( × )
2

3

−5

7

2

3

4

5

7. Simplify : 

Watch Video Solution

( + ) + ( + ) − ( + )
−3

2

4

5

9

5

−10

3

1

2

3

4

8. Represent 
one the number line

Watch Video Solution

and
5

3

−5

3

9. Represent  on the number line.

Watch Video Solution

11

4

https://dl.doubtnut.com/l/_ptmgyWmaMF9l
https://dl.doubtnut.com/l/_lX4f2QrNRAsY
https://dl.doubtnut.com/l/_IkS5TTSFRHUM
https://dl.doubtnut.com/l/_EVLGTlxYqCMn


Solved Examples

10. Find a rational number lying between .

Watch Video Solution

and
1

3

1

2

11. Find three rational numbers between -2 and 5.

Watch Video Solution

1. Write the additive inverse of each of the
following rational numbers: 

(ii) 
(iii) 
(iv) 

Watch Video Solution

4

9
−13

7

5

−11

−11

−14

2. Write the additive inverse of each of the
following rational numbers: 

(ii) 
(iii) 
(iv) 

4

9
−13

7

5

−11

−11

−14

https://dl.doubtnut.com/l/_q8sYfqSZYBZu
https://dl.doubtnut.com/l/_3vjibdlGjxwi
https://dl.doubtnut.com/l/_57VZgCo2qvkW
https://dl.doubtnut.com/l/_QlSPmapzaypy


Watch Video Solution

3. Verify that --{\rm{ }}(--x)

Watch Video Solution

4. Verify that --{\rm{ }}(--x)

Watch Video Solution

5. What number should be substracted from  to get  ?

Watch Video Solution

27

13

−3

7

6. The sum of two rational numbers is . If one of them is , find the

other.

Watch Video Solution

−1

2

−9

10

https://dl.doubtnut.com/l/_QlSPmapzaypy
https://dl.doubtnut.com/l/_UNhdv1D9ayuJ
https://dl.doubtnut.com/l/_NCD2bZmItPN5
https://dl.doubtnut.com/l/_zI0UezGjL36t
https://dl.doubtnut.com/l/_cOjZHodttUCi


7. Using commutativity and associativity of addition of ration of
numbers,

express each of the following as a rational number:

Watch Video Solution

+   +   + − 2
4

3

−4

5

−2

3

7

5

8. Re- arrange suitably and find the sum: 

Watch Video Solution

+ + +  3 +  
−4

7

7

6

2

7

−11

6

9. What number should be added to 
so as to get 

Watch Video Solution

−5

8
 ?

5

9

10. Subtract  from .

Watch Video Solution

−8

33

−5

11

https://dl.doubtnut.com/l/_cOjZHodttUCi
https://dl.doubtnut.com/l/_efX1tEpy8kcw
https://dl.doubtnut.com/l/_ju056o2VZsfx
https://dl.doubtnut.com/l/_dK2jNFSHt4RH
https://dl.doubtnut.com/l/_dnVr7DkIN3PE


11. Subtract the sum of  from the sum of .

Watch Video Solution

and
−4

7

5

14
and

9

14

23

14

12. Evaluate : 

Watch Video Solution

+ + + +
−12

5

−7

20

3

14

1

7

−1

10

13. Simplify : 

Watch Video Solution

( x ) − (1x ) +  ( x )
−7

18

15

−7

1

4

1

2

1

4

14. Divide :
 
(ii) 
 
(iv) 

Watch Video Solution

by
3

5

4

25
by

−8

9

4

3
by

−16

21

−4

3
by

8

13

3

−26

https://dl.doubtnut.com/l/_dnVr7DkIN3PE
https://dl.doubtnut.com/l/_7n5zpnyXR0Sy
https://dl.doubtnut.com/l/_wWg15BTvLIPI
https://dl.doubtnut.com/l/_yuIzOBIKj0w3
https://dl.doubtnut.com/l/_13riO9KtLlNK


15. Divide:
 
(ii) 

Watch Video Solution

 by
−16

21

4

3
 by

−8

13

3

−26

16. 14 The product of two numbers is 14/15. If one of the numbers is

(-20/17). Find the other

Watch Video Solution

17. Represent  on the number line.

Watch Video Solution

and
15

4

−15

4

18. Express  as a rational number and show that it lies

between .

Watch Video Solution

( + ) ÷ 2
1

2

3

4

and
1

2

3

4

https://dl.doubtnut.com/l/_0aDbPydg7DmU
https://dl.doubtnut.com/l/_QBgmHPTRHhUU
https://dl.doubtnut.com/l/_AilQD35LddiI
https://dl.doubtnut.com/l/_V7F4hr0lJBdl
https://dl.doubtnut.com/l/_6SEAsc4mI78F


Ncert Section Exercise 1 1

19. Find 10 rational numbers between .

Watch Video Solution

and
−2

11

9

11

1. Using appropriate properties find.
 (i)

- \frac{2}{3} \times
\frac{3}{5} + \frac{5}{2} - \frac{3}{5} \times \frac{1}{6}

Watch Video Solution

2. v31

Watch Video Solution

3. Write the additive inverse of each of
the following.
(i)
 \frac{2}{8}

https://dl.doubtnut.com/l/_6SEAsc4mI78F
https://dl.doubtnut.com/l/_lKPJLhFgnMPs
https://dl.doubtnut.com/l/_q2WkPyZArZ1g
https://dl.doubtnut.com/l/_5sdz2CxgL9jX


Watch Video Solution

4. Write the additive inverse of each of
the following.
(i)
 \frac{2}{8}

Watch Video Solution

5. Write the additive inverse of each of
the following.
(i)
 \frac{2}{8}

Watch Video Solution

6. Write the additive inverse of each of
the following.
(i)
 \frac{2}{8}

Watch Video Solution

7. Write the additive inverse of each of
the following.
(i)
 \frac{2}{8}

Watch Video Solution

https://dl.doubtnut.com/l/_5sdz2CxgL9jX
https://dl.doubtnut.com/l/_Xz4KAQsHAGBd
https://dl.doubtnut.com/l/_I4I8gg49pGlN
https://dl.doubtnut.com/l/_p4PoHS4IvzGI
https://dl.doubtnut.com/l/_5xD7Q8tJ96WY
https://dl.doubtnut.com/l/_D5NS51eetXKX


8. Verify that --{\rm{ }}(--x){\rm{ }} = x

Watch Video Solution

9. Verify that --{\rm{ }}(--x){\rm{ }} = x

Watch Video Solution

10. Find the multiplicative inverse of the
following.
(i)
 - 13

Watch Video Solution

11. Find the multiplicative inverse of the
following.
(i)
 - 13

Watch Video Solution

12. Find the multiplicative inverse of the following. 

Watch Video Solution

1

5

https://dl.doubtnut.com/l/_D5NS51eetXKX
https://dl.doubtnut.com/l/_mY436OJopNGt
https://dl.doubtnut.com/l/_59NdMUaWlsRw
https://dl.doubtnut.com/l/_IxkMqR5vJ8uE
https://dl.doubtnut.com/l/_5FHRB2aHjq23


13. Find the multiplicative inverse of the
following.
(i)
 - 13

Watch Video Solution

14. Find the multiplicative inverse of the
following.
(i)
 - 13

Watch Video Solution

15. Find the multiplicative inverse of the following. 

Watch Video Solution

−1

16. Name the property under multiplication
used in each of the following.
(i)

\frac{{ - 4}}{5} \times 1 = 1
\times \frac{{ - 4}}{5} = -
\frac{4}{5}

Watch Video Solution

https://dl.doubtnut.com/l/_5FHRB2aHjq23
https://dl.doubtnut.com/l/_yKZUp8wVpYPk
https://dl.doubtnut.com/l/_uXHPXrsui6LK
https://dl.doubtnut.com/l/_OTcUIkVujSr3
https://dl.doubtnut.com/l/_nBCO94Tg6sqi


17. Name the property under multiplication
used in each of the following.
(i)

\frac{{ - 4}}{5} \times 1 = 1
\times \frac{{ - 4}}{5} = -
\frac{4}{5}

Watch Video Solution

18. Name the property under multiplication
used in each of the following.
(i)

\frac{{ - 4}}{5} \times 1 = 1
\times \frac{{ - 4}}{5} = -
\frac{4}{5}

Watch Video Solution

19. Multiply \frac{6}{{13}}

Watch Video Solution

20. Tell what property allows you to compute

\frac{1}{3} \times \left( {6 \times \frac{4}{3}} \right)\,\,as\,\,\left(
 {\frac{1}{3}

\times 6} \right) \times \frac{4}{3}

Watch Video Solution

https://dl.doubtnut.com/l/_LDvKjZdjN7gn
https://dl.doubtnut.com/l/_brU0kkd0wknK
https://dl.doubtnut.com/l/_v18uQgknAAwp
https://dl.doubtnut.com/l/_KgaxVQ10XwGF


21. Is  the multiplicative inverse of ? Why or why not?

Watch Video Solution

8

9
−1

1

8

22. Is 0.3 the multiplicative inverse of 3\frac{1}{3}

Watch Video Solution

23. Write. 

The rational number that does not have a reciprocal.

Watch Video Solution

24. Write. 

The rational numbers that equal to their reciprocals.

Watch Video Solution

https://dl.doubtnut.com/l/_iYzjlhob9Ofg
https://dl.doubtnut.com/l/_GLZOhYX50cd9
https://dl.doubtnut.com/l/_oKkeVYAyAHQb
https://dl.doubtnut.com/l/_d1rgCdyVfTLG


25. The rational number that is equal to its negative.

Watch Video Solution

26. Fill in the blanks. 

Zero has ………… reciprocal.

Watch Video Solution

27. Fill in the blanks. 

The number ……..and……… are their own reciprocals.

Watch Video Solution

28. Fill in the blanks. 

The reciprocal of -5 is …………… .

Watch Video Solution

https://dl.doubtnut.com/l/_EDobQMzybpKV
https://dl.doubtnut.com/l/_50RSUshb8RvR
https://dl.doubtnut.com/l/_iBuFsRPGL4AE
https://dl.doubtnut.com/l/_ObXNtarlvIHl


Ncert Section Exercise 1 2

29. Fill in the blanks. 

Reciprocal of , where  is ……….. .

Watch Video Solution

1

x
x ≠ 0

30. Fill in the blanks. 

The product of two rational numbers is always a …………. .

Watch Video Solution

31. Fill in the blanks. 

The reciprocal of positive rational number is ………….. .

Watch Video Solution

https://dl.doubtnut.com/l/_ObXNtarlvIHl
https://dl.doubtnut.com/l/_QuxyaoNjeOH0
https://dl.doubtnut.com/l/_ZDhOSgbCjX49
https://dl.doubtnut.com/l/_abrtLByrE3fx
https://dl.doubtnut.com/l/_DAO9UBwez2US


1. Represent these numbers on the number
line.
(i)


Watch Video Solution

2. Represent these numbers on the number
line.
(i)


Watch Video Solution

3. Represent \frac{{ - 2}}{{11}},\,\frac{{ - 5}}{{11}},\,\,\frac{{ -
9}}{{11}}

Watch Video Solution

4. Write five rational numbers which are
smaller than 2.

Watch Video Solution

5. Find ten rational numbers between 

Watch Video Solution

and .
−2

5

1

2

https://dl.doubtnut.com/l/_DAO9UBwez2US
https://dl.doubtnut.com/l/_vbMo8hneDNnu
https://dl.doubtnut.com/l/_6hrw3WYq6W71
https://dl.doubtnut.com/l/_MKiq9824pbYW
https://dl.doubtnut.com/l/_r9bmQGYbkvWv


6. Find five rational numbers between. (i)  and , (ii)  and 

Watch Video Solution

2

3

4

5

−3

2

5

3

7. Find five rational numbers between 

Watch Video Solution

and .
−3

2

5

3

8. 

Watch Video Solution

 Find five rational numbers between  and 
1

4

1

2

9. Write five rational numbers greater than 

Watch Video Solution

−2

https://dl.doubtnut.com/l/_r9bmQGYbkvWv
https://dl.doubtnut.com/l/_1Bq8X3b8RRtM
https://dl.doubtnut.com/l/_uDkl8X8Mwm41
https://dl.doubtnut.com/l/_pzIxB98LREHd
https://dl.doubtnut.com/l/_nwaC5firwqCI


Exercise Multiple Choice Questions Level 1

10. Find ten rational numbers between \frac{3}{5}\,\,and\,\,\frac{3}{4}

Watch Video Solution

1. The sum of the additive inverse and multiplicative inverse of 2 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

2

−3

2

1

2

−1

2

2. Additive inverse of  is
3

−4

https://dl.doubtnut.com/l/_8ioQuiM0w56n
https://dl.doubtnut.com/l/_ITHE28elq77A
https://dl.doubtnut.com/l/_z0lPrSpbOk56


A. 

B. 

C. 3

D. 0

Answer:

Watch Video Solution

3

4

1

4

3. The standard form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

192

−168

−2

3

−8

7

−1

7

−6

7

https://dl.doubtnut.com/l/_z0lPrSpbOk56
https://dl.doubtnut.com/l/_JhwQNM0tg0aP


4. The number which is subtracted from  to get , is

Watch Video Solution

27

13

−3

7

5. The additive inverse of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−a

b

a

b

b

a

−b

a

−a

b

6. Standard form of  is a rational number with denominator
−24

36

https://dl.doubtnut.com/l/_JhwQNM0tg0aP
https://dl.doubtnut.com/l/_WZpGeajSmJFH
https://dl.doubtnut.com/l/_Z22ny3edR542
https://dl.doubtnut.com/l/_NSIhTaplVvwt


A. 3

B. 4

C. 1

D. 2

Answer:

Watch Video Solution

7. Which of the following statements is false?

A. Every fraction is a rational number.

B. Every rational number is a fraction.

C. Every integer is a rational number.

D. All of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NSIhTaplVvwt
https://dl.doubtnut.com/l/_VnCLehPVhkpY


8. Find a rational number between .

A. 

B. 0.29

C. 

D. All of these

Answer:

Watch Video Solution

and
1

4

1

3

7

24

13

48

9. Which of the following statements is true?

A. 

B. 

C. 

< < <
5

7

7

9

9

11

11

13

< < <
11

13

9

11

7

9

5

7

< < <
5

7

11

13

7

9

9

11

https://dl.doubtnut.com/l/_VnCLehPVhkpY
https://dl.doubtnut.com/l/_SbMx4T1nx56v
https://dl.doubtnut.com/l/_fE5YF0RMCgSM


D. 

Answer:

Watch Video Solution

< < <
5

7

9

11

11

13

7

9

10. The value of x for which the two rational numbers  and  are

equivalent, is

A. 18

B. 15

C. 12

D. 10

Answer:

Watch Video Solution

3

7

x

42

https://dl.doubtnut.com/l/_fE5YF0RMCgSM
https://dl.doubtnut.com/l/_TFnWrRdIF9eh


11. Multiplicative inverse of '0' is

A. 

B. 0

C. does not exist

D. 1

Answer:

Watch Video Solution

−1

12. 0.75 when represented as rational number, is

A. 

B. 

C. 

D. 

75

99

75

90

3

4

5

4

https://dl.doubtnut.com/l/_LJ1PZFnR6wfA
https://dl.doubtnut.com/l/_m6ah4FhF0cQy


Answer:

Watch Video Solution

13. The value of expression  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+ + +
2

3

5

11

( − 1)

3

( − 3)

11

1

33

2

33

10

33

17

33

14. Which of the following illustrates the inverse property of addition?

A. 3 + ( − 3) = 0

https://dl.doubtnut.com/l/_m6ah4FhF0cQy
https://dl.doubtnut.com/l/_rdLsTUfUZKDR
https://dl.doubtnut.com/l/_DyEecFWyCCWh


B. 

C. 

D. 

Answer:

Watch Video Solution

3 − ( − 3) = 6

3 + 0 = 3

3 − 0 = 3

15. The difference between the largest and the smallest of the rationals,

, is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

, , ,
5

8

7

12

1

3

2

5

1

4

−5

24

7

24

13

21

https://dl.doubtnut.com/l/_DyEecFWyCCWh
https://dl.doubtnut.com/l/_OsVzIeyVleYb


16. The additive inverse of sum of the rational numbers  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

− and
5

16

7

12

−
7

48

1

24

−
13

48

13

48

17. What number should be added to  to get  ?

A. 

B. 

C. 

D. 

7

12

4

15

−
19

60

−
11

30

51

60

1

20

https://dl.doubtnut.com/l/_OsVzIeyVleYb
https://dl.doubtnut.com/l/_jUamZGemLTxf
https://dl.doubtnut.com/l/_we77tdGN3i8M


Answer:

Watch Video Solution

18. Which of the following rational numbers is the smallest? 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

− , , and
5

16

−3

4

−13

24

7

−12

−
5

16

−3

4

−13

24

−7

12

19. ( + + + ) = ?
2

3

−4

5

7

15

−11

20

https://dl.doubtnut.com/l/_we77tdGN3i8M
https://dl.doubtnut.com/l/_zlQLF9RVeqEy
https://dl.doubtnut.com/l/_JtJ1KSe0sMbV


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
1

5

−
13

60

−
4

15

−
7

30

20. What number should be subtracted from -3/5 to get-2?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
7

5

−
13

5

13

5

7

5

https://dl.doubtnut.com/l/_JtJ1KSe0sMbV
https://dl.doubtnut.com/l/_itEJe92jPz4H


21. Name the law of multiplication illustrated by the statement,

 .

A. Associative law

B. Closure law

C. Commutative law

D. None of these

Answer:

Watch Video Solution

× = ×
−15

8

−12

7

−12

7

−15

8

22. Which of the following forms a pair of equivalent rational numbers?

A. 

B. 

C. 

and
14

35

21

45

and
−12

26

18

39

and
−3

7

−21

36

https://dl.doubtnut.com/l/_itEJe92jPz4H
https://dl.doubtnut.com/l/_fEvFSREYK1xy
https://dl.doubtnut.com/l/_4ZUId5CAdqV0


D. 

Answer:

Watch Video Solution

and
−7

28

−5

20

23. The reciprocal of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − × )
9

16

8

15

−
3

10

−
4

150

−
10

3

−
2

50

24. The value of  is( − ÷ )
5

9

2

3

https://dl.doubtnut.com/l/_4ZUId5CAdqV0
https://dl.doubtnut.com/l/_h4Ke69aZrElc
https://dl.doubtnut.com/l/_WpMKpxvcEnqc


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
5

2

−
5

6

−
16

12

−
6

5

25. Which of the following rational numbers is in its standard form?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−12

26

−49

91

−90

16

−4

15

https://dl.doubtnut.com/l/_WpMKpxvcEnqc
https://dl.doubtnut.com/l/_ACffR5BvvWgm


26. By what number should we multiply 
so that the product may be 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

,
3

−14

.
5

12

−35

18

34

19

35

18

−34

19

27. Represent 
and 
on the number line.

A. 

B. 

C. 

8

5

−8

5

https://dl.doubtnut.com/l/_ACffR5BvvWgm
https://dl.doubtnut.com/l/_s66Cv08HQQDR
https://dl.doubtnut.com/l/_enjlxsAwMIc0


D. 

Answer:

Watch Video Solution

28. Find the value of .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+ ( ) + ( )
4

9

−7

11

−8

27

145

297

−145

297

−152

297

−135

617

https://dl.doubtnut.com/l/_enjlxsAwMIc0
https://dl.doubtnut.com/l/_WuFA94o7DlgR


29. The sum of two rational numbers is 
 . If one of the number is 
 ,

find the other.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−3

5

−9

20

7

20

27

100

−21

20

−3

20

30. Find : 

A. 

B. 

C. 

+  ( ) + ( ) + +  ( )
3

4

−3

5

−2

3

5

8

−4

15

149

120

−19

120

−37

110

https://dl.doubtnut.com/l/_WMta7WrYsrGk
https://dl.doubtnut.com/l/_UN3O1zdQzzXT


D. 

Answer:

Watch Video Solution

43

110

31. Multiply  by the reciprocal of  .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

7

8

−23

85

−161

184

−3
43

184

−39

56

−161

580

https://dl.doubtnut.com/l/_UN3O1zdQzzXT
https://dl.doubtnut.com/l/_AIIcEOmtfpWX


32. The area of a rectangle is . If its length is  cm, then find its

breadth.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

45 cm25

16
7

1

4

6 cm
1

4

4 cm
1

6

328 cm
33

64

38 cm
1

16

33. Simplify : 

A. 

B. 

C. 

1 + + ( ) +
14

35

−75

105

27

15

1
51

105

2
52

105

61

45

https://dl.doubtnut.com/l/_ok8OswZk7wti
https://dl.doubtnut.com/l/_mwqQN7gc24XE


D. 

Answer:

Watch Video Solution

2
17

35

34. Which of the following rational numbers is in the standard form?

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

14

−36

−5

23

75

−15

35. Which of the following rational numbers lie(s) between -1 and -2?

https://dl.doubtnut.com/l/_mwqQN7gc24XE
https://dl.doubtnut.com/l/_fTcXe1sZRzHs
https://dl.doubtnut.com/l/_M4RtVf38jNqu


Exercise Multiple Choice Questions Level 2

A. 

B. 

C. 

D. All of these

Answer:

Watch Video Solution

−19

10

−11

10

−17

10

1. If , then x is

A. 

B. 

C. 

D. 

+ x + ( ) + =
3

7

−8

21

5

22

−125

462

6

11

−5

11

−6

11

5

11

https://dl.doubtnut.com/l/_M4RtVf38jNqu
https://dl.doubtnut.com/l/_7YpkdLLJrOzW


Answer:

Watch Video Solution

2. Product of two numbers is  . If one of them is , then other

number is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

25
3

8
15

19

40

2

3

1
2

3

5
2

3

9

7

3.  is a rational number between
−1

4

https://dl.doubtnut.com/l/_7YpkdLLJrOzW
https://dl.doubtnut.com/l/_x1oSM1UdVD0a
https://dl.doubtnut.com/l/_bsMAse3HmNSn


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0 and
1

4

−1 and 0

1 and 2

−2 and − 1

4. Which of the rational numbers  is the greatest?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

, , ,
−11

28

−5

7

9

−14

29

−42

−11

28

−5

7

9

−14

29

−42

https://dl.doubtnut.com/l/_bsMAse3HmNSn
https://dl.doubtnut.com/l/_8fnNRHkRFGS5


5. The product of two numbers is . If one of the numbers is , the

other is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−16

35

−15

14

−
2

5

−32

75

32

75

−
8

3

6. Simplify : 

A. 

B. 

C. 

( × ) + ( + ) − ( × )
3

5

−15

21

−9

14

45

28

2

3

30

12

1
17

35

−2
52

105

−1
4

11

https://dl.doubtnut.com/l/_8fnNRHkRFGS5
https://dl.doubtnut.com/l/_bGuUZhhfbZpz
https://dl.doubtnut.com/l/_xQvENFqSiOM9


D. 

Answer:

Watch Video Solution

−40

41

7. There are three poles, A, B and C. The height of pole C is  of pole B, the

height of pole B is  of the pole A. Find the height of pole C, if the height

of pole A is .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

3
4

3

m
97

3

15 m
10

63

3 m
17

27

28 m
20

27

4 m
20

63

https://dl.doubtnut.com/l/_xQvENFqSiOM9
https://dl.doubtnut.com/l/_l47ExuVIiexY
https://dl.doubtnut.com/l/_VtfhvhHrhjZB


8. The sum of the additive inverse and multiplicative inverse of 5 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

24

5

−24

5

21

5

−21

5

9. A rational number equivalent to  is

A. 

B. 

C. 

D. None of these

−7

−4

−42

24

−49

28

35

20

https://dl.doubtnut.com/l/_VtfhvhHrhjZB
https://dl.doubtnut.com/l/_q03mOR6Ztm5z


Answer:

Watch Video Solution

10. What should be added to  to get 3?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( + − )
1

2

1

3

1

5

−71

30

19

10

71

30

17

15

11.  is equal to

A. 

∣
∣
∣

−
∣
∣
∣

2

3

3

4

−7

12

https://dl.doubtnut.com/l/_q03mOR6Ztm5z
https://dl.doubtnut.com/l/_Hx5AwkYyxH1Z
https://dl.doubtnut.com/l/_s5rQj6NONvyi


B. 

C. 

D. 

Answer:

Watch Video Solution

−
1

12

1

12

17

12

12. Choose the rational number which does not lie between rational

numbers .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

− and −
2

5

1

5

−
1

4

−
3

10

3

10

−
7

20

https://dl.doubtnut.com/l/_s5rQj6NONvyi
https://dl.doubtnut.com/l/_F4uAnDGChgLp


13. Divide the sum of  and  by their difference.

A. 9

B. 7

C. 8

D. 6

Answer:

Watch Video Solution

4

5

9

15

14. The product of two rational numbers is  . If one of them is , then

find the absolute value of the difference of two rational numbers.

A. 

B. 

C. 

−
13

35

3

7

2

35

1
31

105

4

5

https://dl.doubtnut.com/l/_F4uAnDGChgLp
https://dl.doubtnut.com/l/_KFzrqGVa5UhQ
https://dl.doubtnut.com/l/_w3BoebQWw822


Exercise Match The Following

D. 

Answer:

Watch Video Solution

46

105

15. Absolute value of product of the sum of  &  and their difference, is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

17

21

8

7

41

63

17

21

24

21

41

7

https://dl.doubtnut.com/l/_w3BoebQWw822
https://dl.doubtnut.com/l/_GOatDnPLRoS4
https://dl.doubtnut.com/l/_MGV0pEquXK5u


1. Match the following: 

A. P-2, Q-1, R-4, S-3

B. P-3, Q-2, R-4, S-1

C. P-3, Q-2, R-1, S-4

D. P-2, Q-4, R-3, S-1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MGV0pEquXK5u


2. Match the following: 

A. P-2, Q-3, R-4, S-1

B. P-3, Q-2, R-4, S-1

C. P-3, Q-2, R-1, S-4

D. P-2, Q-4, R-3, S-1

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_QZ12VhUDr2vx


Exercise Assertion Reason Type

Watch Video Solution

1. Assertion : Zero is a rational number. 

Reason : Each rational number is a quotient of any two integers, while its

divisor should not be zero. Thus, a number of the form , where p and q

are integers and q  0 is a rational number.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:

Watch Video Solution

p

q

≠

https://dl.doubtnut.com/l/_QZ12VhUDr2vx
https://dl.doubtnut.com/l/_206misEcsaDs


2. Assertion : For each rational number  is true. 


Reason : Rational numbers are always positive.

Watch Video Solution

p/q, q ≠ 0

3. Assertion : If x, y, z be rational numbers such that x  y and y  z, then

x  z. 


Reason : The sum of two rational numbers is always greater than third

rational number.

Watch Video Solution

> >

>

4. Which property is being depicted in the expression provided below:

.

Watch Video Solution

+ [ + ( )] = [ + ( )] −
5

9

−4

3

−9

8

5

9

−4

3

9

8

https://dl.doubtnut.com/l/_206misEcsaDs
https://dl.doubtnut.com/l/_Lfw43CIkU1t0
https://dl.doubtnut.com/l/_Ramx8Y8Qse1o
https://dl.doubtnut.com/l/_gJ6XfF13LNFT
https://dl.doubtnut.com/l/_DOrLMCKFi9gj


Exercise Comprehension Type Passage

5. Assertion : One of the rational number between  and  is . 


Reason : If x and y are any two rational numbers such that , then 

 is a rational number between x and y such that 

.

Watch Video Solution

1

5

1

4

9

2

x < y

(x + y)
1

2

x < (x + y) < y
1

2

1.  is the multiplicative inverse of _______.

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

73

−29

29

73

−29

73

73

29

https://dl.doubtnut.com/l/_DOrLMCKFi9gj
https://dl.doubtnut.com/l/_Yd1tRBQS81kd


2. Find the multiplicative inverse of 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(2 + )
1

2

3

2

4

7

8

3

7

2

2

3

3. If , then z is a multiplicative inverse of ________.

A. x

B. y

C. 

D. 

(x + y)z = 1

x + y

x + y

2

https://dl.doubtnut.com/l/_Yd1tRBQS81kd
https://dl.doubtnut.com/l/_LLQnxPuDah9z
https://dl.doubtnut.com/l/_asZRx2dMuBzY


Answer:

Watch Video Solution

4. If . 

If , then p and q are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

× ( + ) = × + ×
a

b

c

d

e

f

a

b

c

d

a

b

e

f

× + × = p × [ + q]
2

3

−7

10

−2

3

8

9

−7

10

,
2

3

8

9

,
−2

3

−8

9

,
−2

3

8

9

,
2

3

−8

9

5. ASSOCIATIVITY The multiplication of rational numbers is associative. That

is if  are three rational numbers then and
a

b

c

d

e

f

https://dl.doubtnut.com/l/_asZRx2dMuBzY
https://dl.doubtnut.com/l/_OUXmCPsrMBhD
https://dl.doubtnut.com/l/_VpIZTTrl3uFy


A. Commutativity of multiplication over addition

B. Commutativity of addition over multiplication

C. Distributivity of multiplication over addition

D. Distributivity of addition over multiplication

Answer:

Watch Video Solution

( × ) × = × ( × )
a

b

a

d

e

f

a

b

c

d

e

f

6. If . 

If , then p, q and r are

A. 

B. 

C. 

D. 

× ( + ) = × + ×
a

b

c

d

e

f

a

b

c

d

a

b

e

f

× + p × = × [q + r]
2

5

−8

9

5

9

2

5

, ,
2

5

8

9

5

9

, ,
2

5

8

9

−5

9

, ,
−2

5

−8

9

−5

9

, ,
−2

5

−8

9

5

9

https://dl.doubtnut.com/l/_VpIZTTrl3uFy
https://dl.doubtnut.com/l/_tBf0kv3pyFcS


Exercise Subjective Problems Very Short Answer Type

Answer:

Watch Video Solution

1. Write the additive inverse of each of the
 following rational numbers:


(ii) 

Watch Video Solution

−17

5

−11

−25

2. Write the negative (additive inverse) of each
of the following : 
 (ii) 

(iii) 
(iv) 

Watch Video Solution

−5

1
0

1 −1

3. Fill in the blanks:
 
(ii) 

W t h Vid S l ti

− =
−4

13

−3

26
+ = − 1

−9

14

https://dl.doubtnut.com/l/_tBf0kv3pyFcS
https://dl.doubtnut.com/l/_CnjrCSSmSoy4
https://dl.doubtnut.com/l/_FbnBJTsIQBIv
https://dl.doubtnut.com/l/_fHjV10ckDAjb


Watch Video Solution

4. Multiply: 
(ii) 

Watch Video Solution

by
−2

9

5

11
by

−3

17

−5

−4

5. Express  as a rational number whose numerator is -6.

Watch Video Solution

2

7

6. Express rational number  with positive denominator.

Watch Video Solution

4

−14

7. Find the value of x, if .

Watch Video Solution

=
−5

9

10

x

https://dl.doubtnut.com/l/_fHjV10ckDAjb
https://dl.doubtnut.com/l/_f3fQ1Bxl2wG2
https://dl.doubtnut.com/l/_5vQLegRuGHvM
https://dl.doubtnut.com/l/_BgbMTwLq0W2H
https://dl.doubtnut.com/l/_fVeJS80UAq9D
https://dl.doubtnut.com/l/_VAvpdYIKv6M6


Exercise Subjective Problems Short Answer Type

8. Are  and  equivalent rational numbers?

Watch Video Solution

15

24

45

48

9. Can you write  with denominator equal to 4?

Watch Video Solution

1

2

10. Write the absolute value of .

Watch Video Solution

−9

−100

11. Can -2 be the absolute value of any rational number?

Watch Video Solution

https://dl.doubtnut.com/l/_VAvpdYIKv6M6
https://dl.doubtnut.com/l/_Q7m1rlCPUGJr
https://dl.doubtnut.com/l/_NGRXi9fpUb3w
https://dl.doubtnut.com/l/_D0qsIPP3UL1e
https://dl.doubtnut.com/l/_cVTpXwixBSqK


1. Express  in standard form.

Watch Video Solution

728

−112

2. Simplify : 

Watch Video Solution

× ( ) × ( ) × ( − 7)
−5

9

−10

13

21

11

3. If  of a number exceeds its  by 44, find the number.

Watch Video Solution

3

5

2

7

4. Verify that  by taking .

Watch Video Solution

|x × y| = |x| × |y| x = , y =
−3

5

−5

3

5. Evaluate : 

W h Vid S l i

+ + +
11

15

19

10

−9

5

−2

5

https://dl.doubtnut.com/l/_cVTpXwixBSqK
https://dl.doubtnut.com/l/_BUbMDTgNOohV
https://dl.doubtnut.com/l/_w9pWeb7xYE1o
https://dl.doubtnut.com/l/_LgtueDGG3iGt
https://dl.doubtnut.com/l/_SNOpl193tDdS


Watch Video Solution

6. By what number should 
be divided to get 

Watch Video Solution

−33

16
?

−11

4

7. Find , if .

Watch Video Solution

(x + y) : (x − y) x = , y =
1

2

2

3

8. Find a rational number between 

Watch Video Solution

−  and
2

3

1

4

9. The cost of 
metres of rope is rs 
Find the cost of cloth per metre.

Watch Video Solution

7
2

3
12 .

3

4

https://dl.doubtnut.com/l/_SNOpl193tDdS
https://dl.doubtnut.com/l/_W9tOH2G127jV
https://dl.doubtnut.com/l/_mBMQMlYdSYYD
https://dl.doubtnut.com/l/_cKCNjWfoXKtV
https://dl.doubtnut.com/l/_DYAxi5UifJDc
https://dl.doubtnut.com/l/_wtmXg5Jzcy5W


Exercise Subjective Problems Long Answer Type

10. The product of two rational numbers is . If one of the number is 

, find the other number.

Watch Video Solution

63

40

( )
−7

5

1. Divide the sum of 
by the product of 

Watch Video Solution

 and
−13

5

12

7
 and .

−31

7

−1

2

2. Simplify: 

Watch Video Solution

( x ) −  ( x ) +  ( x )
3

11

5

6

9

12

4

3

5

13

6

15

3. Verity the property: 




Watch Video Solution

x x (y + z) = x x y + x x z by tak ∈ g :

x = , y = , z =
−3

7

12

13

−5

6
x = , y = , z =

−12

5

−15

4

8

3

https://dl.doubtnut.com/l/_wtmXg5Jzcy5W
https://dl.doubtnut.com/l/_0VmF3ZJir5lC
https://dl.doubtnut.com/l/_sAUdj3SU0msg
https://dl.doubtnut.com/l/_yxc3dqtPoKm8


Exercise Integer Numerical Value Type

Watch Video Solution

4. Find four rational numbers between 

Watch Video Solution

and .
2

3

4

5

5. For  and , verify that .

Watch Video Solution

x =
1

2
y =

2

3
−(x + y) = ( − x) + ( − y)

1. Write the unit digit of denominator of , where 

.

Watch Video Solution

(x + y) × z

x = , y = , z =
−4

3

1

2

−7

5

2. Write sum of numerator and denominator of simplest form of .
360

220

https://dl.doubtnut.com/l/_yxc3dqtPoKm8
https://dl.doubtnut.com/l/_uMlSS1Wg9ZsO
https://dl.doubtnut.com/l/_T91MbK07PCce
https://dl.doubtnut.com/l/_moMcWFL9mc4r
https://dl.doubtnut.com/l/_jwaI2Jm3RDcS


Watch Video Solution

3. What is the multiplicative identity of rational number?

Watch Video Solution

4. Find the sum of digits of numerator and denominator of reciprocal of

Watch Video Solution

( + )
2

5

5

4

5. The product of two numbers is . One of them is 9/7 and the other

number is m/n. Then  is

Watch Video Solution

45

56

m + n

https://dl.doubtnut.com/l/_jwaI2Jm3RDcS
https://dl.doubtnut.com/l/_TVLjIIHW2NWz
https://dl.doubtnut.com/l/_VGVZWywjGhax
https://dl.doubtnut.com/l/_2WXSgsoWENST


6. If , then the denominator of x in simplest

form is

Watch Video Solution

15 × 3 + 6 = 11 + x
2

3

1

6

1

3

7

8

7. Denominator of  is

Watch Video Solution

9 + 11 + 8
3

4

1

2

1

4

8. The sum of two rational numbers is -3. If one of them is  then the

other one is

Watch Video Solution

−10

3

9. The product of a non-zero rational number and its reciprocal is ________.

Watch Video Solution

https://dl.doubtnut.com/l/_6kM9pgGcxpbk
https://dl.doubtnut.com/l/_Ty79IA1eh9Qn
https://dl.doubtnut.com/l/_hWXZrydSZWjv
https://dl.doubtnut.com/l/_bQuU6YIcJ9Lo
https://dl.doubtnut.com/l/_MqxSEJ8Uak2x


Olympiad Hots Corner

10. Find x, if .

Watch Video Solution

4 × = × x
7

9

7

9

1. Simplify : 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( × ( − )) + (( − ) × ) − (( ) × ( − ))2

3

5
4

10

3

5
2

− 16

3

55

32

× (( − ) × ( − ))3

2

9

14

1

7

1082

81

−
1082

81

−133
7

81

133
7

81

https://dl.doubtnut.com/l/_MqxSEJ8Uak2x
https://dl.doubtnut.com/l/_yDcSPCwH40ht


2. To reduce a rational number to its standard form, we divide its numerator

and denominator by their

A. L.C.M.

B. H.C.F.

C. Product

D. Multiple

Answer:

Watch Video Solution

3. Which of the following is an example of distributive property of

multiplication over addition for rational numbers.

A. 

B. 

C. 

− × { + ( − )} = [ − × ] + [ − × ( − )]
3

4

1

3

5

7

3

4

1

3

3

4

5

7

− × { + ( − )} = [ − × ] − [ − ]
3

4

1

3

5

7

3

4

1

3

5

7

− × { + ( − )} = + [ − ] × ( − )
3

4

1

3

5

7

1

3

3

4

5

7

https://dl.doubtnut.com/l/_aJuaPCj8S2rq
https://dl.doubtnut.com/l/_SA04PyVJgYtI


D. 

Answer:

Watch Video Solution

− × { + ( − )} = [ + ( − )] −
3

4

1

3

5

7

1

3

5

7

3

4

4. If A: Rational numbers are always closed under division and R: Division by

zero is not defined, then ________

A. Both A and R are true

B. Both A and R are false

C. A is true and R is false

D. A is false and R is true

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SA04PyVJgYtI
https://dl.doubtnut.com/l/_yko1SMRVkAch


5. ASSOCIATIVITY The addition of rational numbers is associative

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a + b = b + a

a + (b + c) = (a + b) + c

a × (b × c) = (a × b) × c

a + (b − c) = (a + b) − c

6. Which of the following statements is true? 

(i)  is a negative rational number. 


(ii) The reciprocal of , if  is . 


(iii)  

(iv) 

A. Both (i) and (ii)

−5

0

a a ≠ 0
1

a

1 + ( − ) = − 4
1

4

x ÷ (y + z) = x ÷ y + x ÷ z

https://dl.doubtnut.com/l/_4hWf7W3m2Gaw
https://dl.doubtnut.com/l/_n1VOLHknCijE


B. Only (iii)

C. (i), (ii) and (iv)

D. Only (ii)

Answer:

Watch Video Solution

7. Zero is _________.

A. The identity for addition of rational numbers.

B. The identity for subtraction of rational numbers.

C. The identity for multiplication of rational numbers.

D. The identity for division of rational numbers.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_n1VOLHknCijE
https://dl.doubtnut.com/l/_iWMBddFeEdRd
https://dl.doubtnut.com/l/_TzTPbENq38Wa


8. Which of the following statements is always true?

A.  is a rational number between x and y.

B.  is a rational number between x and y.

C.  is a rational number between x and y.

D.  is a rational number between x and y.

Answer:

Watch Video Solution

x − y

2

x + y

2

x × y

2

x ÷ y

2

9. The numerical expression  shows that

A. Rational numbers are closed under addition.

B. Rational numbers are not closed under addition.

C. Rational numbers are closed under multiplication.

D. Addition of rational numbers is not commutative.

+ =
3

8

( − 5)

7

−19

56

https://dl.doubtnut.com/l/_TzTPbENq38Wa
https://dl.doubtnut.com/l/_IXZD3NNKhfPm


Answer:

Watch Video Solution

10. Divide 34 in to two parts in such a way that  of one part is equal

to  of the other

A. 20, 14

B. 21, 13

C. 13, 21

D. 14, 20

Answer:

Watch Video Solution

( )
t

h
4

7

( )th
2

5

11. Which of the following rational numbers does not lie between 

?

and
1

4

2

3

https://dl.doubtnut.com/l/_IXZD3NNKhfPm
https://dl.doubtnut.com/l/_yN5jXLuWOUg5
https://dl.doubtnut.com/l/_MYTzltrqvOsq


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

3

14

24

18

24

12. The numerator and the denominator of a rational number are in the

ratio 5:7. When 6 is added to both the numerator and denominator, the

ratio becomes 4:5. What is the rational number?

A. 

B. 

C. 

D. 

7

5

5

7

2

5

13

14

https://dl.doubtnut.com/l/_MYTzltrqvOsq
https://dl.doubtnut.com/l/_fIGFEelhmUjb


Answer:

Watch Video Solution

13. A water pump pumps out  water per minute from a reservoir. How

many litres of water will be pumped out in  of an hour?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

14 l
1

6

1
1

5

1125l

6120l

1020l

1560l

14. Subtract the sum of  and  from the sum of  and .
−1

2

−4

7

3

4

−5

7

https://dl.doubtnut.com/l/_fIGFEelhmUjb
https://dl.doubtnut.com/l/_VHIxoQl6ITij
https://dl.doubtnut.com/l/_g9H4BXNgnTFc


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−33

28

31

28

1

14

−51

28

15. Shruti uses g of flour for making kg of halwa. How much halwa

can she make from g of wheat flour?

Watch Video Solution

105
1

8

1

2

315
3

8

16. Find one rational number between 

Watch Video Solution

and
1

5

1

4

https://dl.doubtnut.com/l/_g9H4BXNgnTFc
https://dl.doubtnut.com/l/_qYaWWxgHehzc
https://dl.doubtnut.com/l/_KcCUaaCDwAX5
https://dl.doubtnut.com/l/_PcgQQ0XLN2up


17. Simple form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

3 − 1

2 −
1

7

13

32

32

13

7

13

13

7

18. Every fraction is a rational number but a rational number need not be a

fraction.

A. p is true and q is false.

B. p is false and q is true.

C. Both p and q are true.

D. Both p and q are false.

https://dl.doubtnut.com/l/_PcgQQ0XLN2up
https://dl.doubtnut.com/l/_gCIhls7emUd7


Answer:

Watch Video Solution

19. Which of the following numbers does not lie between -1 and -2?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−16

10

−4

5

−15

10

−13

10

20. Nine times the reciprocal of a rational number equals 6 times the

reciprocal of 17. Find the rational number.

https://dl.doubtnut.com/l/_gCIhls7emUd7
https://dl.doubtnut.com/l/_76MANaz9BYrq
https://dl.doubtnut.com/l/_BoncMV8PVTOn


A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

11
1

3

25
1

2

10
1

3

https://dl.doubtnut.com/l/_BoncMV8PVTOn

